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1st Semester (CCFUP: NEP)

ECONOMICS

Paper : MI 1-T (Minor)

(Introductory Microeconomics)

Full Marks : 60 Time : Three Hours

The figures in the margin indicate full marks.

Candidates are required to give their answers

in their own words as far as practicable.

Group - A

Answer arry ten questions : 2x10:20

1. What is Capitalistic or Market Economy?

2. What do you mean by Opportunity Cost?

3. What is marginal utility?

4. State the Law of Demand.

5. Distinguish betrveen market demand and individual demand.

6. What are substitute goods?

7. What will be the shape of average fixed cost curve in the

short run?
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8. Define an isoquant

9. What is a monopolY market?

10. What is budget line of a consumer?

11. What is price consumption curve?

12. What is Quasi rent?

13. What is the shape of Average Revenue and Marginal

Revenue curves under perfect competitition?

14. What is marginal productivity of labour?

I 5. Dstinguish between nominal wage and real wage of labour'

' GrouP - B

Answer xryfourquestions: 5x4:20

16. Distinguish between change in quantity demanded and

change in demand.

17. Write the properties of indifference curves.

18. State the relation between short run average cost and

marginal cost.

19. Distinguish between substitution effect and income efu'

20. Distinguish between retums to scale and returns to a

variable factor.

2l . Write the characteristics of a perfectly competitive markel
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Group - C

Answer arry two questions : l0x2=20

22. Defineprice elasticity of demand. Write the difference

between perfectly elastic demand and perfectly inelastic

demandwithdiagram 4+6

23. Explain diagrammatically the concept of total product
average product and marginal product for a variable factor.

24. Explain the short run pmofit maximizing condition of a firm
under perfect competitionwiththe help of a diagram.

25. Discuss the feaflres of an isoquant What is &e expansion

path of a frm? Define economic region of production.
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